. —y . Mi—@ i‘ﬁ* pay 2017.6.11
M-ZH75— 22[[] /- LIS B s s mn s amie L8
AL K& R ks A& | # JEBL K4 R ALk BE | # JESL K4 R ALk B | 18
1 |#E BE [gALTARA—Y 9.39 20 | 4 1 [wg #—#I[3955C 864 4| 2 HE SN IR 967 1] 5
2 | #m NFABEE 9.45 20| 4 | [ 2 | #n# [~T/EE 8.80 -05 [ 1 2 % B ima kids 9.69 -06 | 6
3 |HH KB [TALTAR—Y 9.49 -01 [ 1 3 |%n A |[B&EBHNBS 884 06| 5 3 [WM #f [ima kids 9.88 -09 | 2
4 |0 FE T AL 9.54 -2.0 2 | 4 B & BIRAC 8.86 -0.5 1 4 [K#s HE |NTAEL 9.91 +1.1 5
EERET (L 954 20 [ 2 5 [Tl BA [Z4AFRR=—Y 8.96 +02 | 3 5 |E4 WE [#EAC 9.93 -02 [ 3
6 (I ®ma |[NTABEE 967 20 | 4 6 o % |[ZA-—YvT vy 8.98 +02 | 3 6 [®# :— [#REAC 10.09 11| 5
7 |KE m# [#EAC 9.69 20| 4 ][ 7 [#s mE [~F L 9.05 06 | 1 7 | BK [395SC 10.12 06 | 6
8 [tk A [THL7RAE—Y 9.84 20 | 2 8 |Fs e |NFomEL 9.08 +0.2 | 3 8 |mmk mEA |TRAC 10.16 06 | 6
- |#)Il HE |#RAC 9.97 -01 ] 3 - |dB K |BGRAC 9.33 +14 | 2 - |RE ®mE |#RAC 10.34 -09 | 2
- [2E® mwk[#EAC 11.22 20 | 2 - |F® mAm[#RAC 9.40 +02 | 3 - X = BRAC 10.37 06 | 6
- [#s e [#EAC 11.46 01 [ 1 - |2l BRA C 957 -05 | 5 - |4 K [#EAC 10.40 -12 | 1
- |E® et [BRAC 991 4| 2 - [k [#RAC 10.63 +17 | 4
Bl GHIES BiRA C 10.00 +0.2 | 8 - |mmBE mE—gB[#RAC 11.39 +17 | 4
- |#E om# [#RAC 10.30 -18 | 4 ERK HRA[HRAC 11.50 06 | 6
- [A& BX [#EAC 10.41 -05 | 1 - |®8 BA [HEAC 11.64 -09 [ 2
- [#ExR ®A[BEAC DNS +11] 5
- |B EkE [#EAC DNS -12 [ 1
- [B #AkE [#RAC DNS 02| 3
6%BF 100m 314L—2
JEfL K& il b= EE | # JERL K& iz b= EE | 18 JERL g iz b= EE |
(&% A& [WFRU—Y 9.19 -4 [ 2 1 [##% EH [imakids 14.13 11 [ 1 [ EEEN ZK—vy=Tyy | 1289 -15 | 4
1 [#E —% [BAYa=-7 919 -14 [ 9 2 |28 BB [VETA 14.28 +19 [ 4 2 &% BZ |F-L# 1313 -15 [ 1
3 [#A & [TRAC 9.22 +0.1 | 1 3 [ #8 HRBEW 14.29 +34 | 7 3 |4 mE |[imakids 13.40 -15 | 1
| 4 % A [S95SC 9.27 -14 | 9 4 [k #£@ [2R—vzovs | 1431 7] 6 PETIER FFRAC 1341 +03 | 2
5 [#% EEE [NTABEE 9.34 -10 | 4 5 [ron e mAnts | R 14.54 +1.7 [ 6 5 |BR —% |KMCEEs5T | 1367 21| 6
6 [PE it NTABEE 9.37 +19 [ 3 6 @k ## |ima kids 1455 +34 | 3 6 |~qhev 2L [FEsHAC 1371 -12 [ 5
6 |[fE BA |[NTABL 9.37 04| 6 7 &R ®mE [VETA 14.62 11 [ 1 7 [®@m %2 [Jvic 13.99 +03 [ 2
8 [RE #k [TAHLTRR—Y 9.42 +0.1 [ 1 8 ¢ X N7 AL 14.78 +34 | 3 8 s s |[BEoa—7 14.00 12| 5
8 |EH EY} [AR—YIVvY 9.42 20| 5 - S B |[#RAC 15.11 +1.9 [ 4 - Bk FE |[#RAC 15.03 -21] 6
- |EA EX [#EAC 9.45 -10 | 4 - |[BE & HORA C 15.31 1| 1 - |m AE [#RAC 16.39 +08 [ 3
eSS #EAC 9.65 04 | 6 - [#EE & [BOREAC 15.37 +34 | 3 - |43t m® [BEAC 15.43 -15 | 1
- |3t =AB[BRAC 9.66 16 | 7 - | WS [#RAC 15.69 -06 | 2 - [B9M f% [#RAC 15.44 12 | 7
- | R |BURAC 9.82 +19 | 3 || - [#5 BZY|BRAC 15.90 +34 [ 8 - |EEX BA |[fEAC 15.65 -15 [ 4
- |l EZA[#RAC 9.86 -14 [ 9 - |#Ekk EE|BEAC 16.58 +19 | 4 - |[P# & [®RAC 15.82 +03 [ 2
- [ &= #URAC 9.97 20| 5 B CE9N #EA C DNS +11 [ 1 - &l wmA [#EAC 16.56 -12 | 5
- [hE SHE [BRAC 10.01 -14 [ 9 - = ) HORA C DNS 06 | 2 - [vE & BRAC 17.16 +03 [ 2
- |F® ®EF [BUEAC 10.06 +19 | 3
- | #HB [BRAC 10.16 16 | 7
- |m@mx sk [BURAC 10.41 20 | 5
- [wo #K [#RAC 10.49 33| 8
- |[ma &£ [BUEAC 11.68 -14 | 2
- |HI SR [#RAC 12.70 33| 8
- [BX #& [BEAC DNS +01 | 1
3EBED v <y R-LRIT
JEAL K4 R il AE | # JEHL K4 R ik BE | # JERL it R sk EE | 8
1 [#EE % [#ORAC 2.33.16 - 1 [HE S PEE 2.24.10 - 2 INETET I EEY R 31m06 -
2 |ZHE Hth [ima kids 2.33.38 - 2 2 [tE&K FZE [ima kids 2.29.92 - 1 2 |h# RAB|E£7TT 26m00 -
3 [vE #F [#EAC 2.3375 = 1 3 |KT 5@ |[KMCREES ST | 2.31.07 - 1 3 |4 sk [BBEAC 24m65 -
4 |8A 2 9 [ima kids 24115 - 1 4 |%A ek [ima kids 2.31.23 - 1 S TRAC 23m50 -
5 [#kk EH[BEAC 2.44.92 = 1 5 TR B [KMCEES ST | 23124 - 1 5 |F% # |TRAC 21m26 -
6 [#2 BA |EEZEIS/L 24719 - 2 6 [%H #BA [7hTs—dr 2.31.43 - 3 6 |tk A |[NTBEL 19m73 -
7 |E# A |[KMCEESST | 24992 - 1 7 gk NT 4L 2.32.75 - 3 7 |BR 22X 88757 19m29 -
L8 |&m = BRA C 2.54.05 - 2 ) (L8 [mst x= [#rAC 2.36.00 - 1 8 |mgk E—#B|#RAC 15m25 -
- [Ea EZs [BRAC 3.05.74 - 2 - |8 @A [#RAC 2.38.50 - 2
- [#) & [#ERAC DNS - 2
4EBED ¥R R-NRY SRR )y 9 KR
JERL K& R ik EE | # JEAL K& izl FOEX B | # JERL &4 i) k= BE |
[ IS BREAC 37m75 - [ 1 [#® f&A [s95sC 3m97 [ +06 | 1 1 [4m B Bgr57 47m44 -
| 2 [ —% [HES1=7 35m59 - 2 |#E Bk [JALFAR—Y | 3m85 | +03 [ 2 2 |#k 6% |[ima kids 43m20 -
3 [ME EA [NTqBEE 32m09 - 3 IR _BE  [FREAC 3m64 | +03 | 1 3 [kE 35 [BEEBNBS 40m71 -
S WETA 29m92 - 4 |kt BFE [NTABEE 3m62_ | -05 [ 2 4 [0 BH [FCaSvy 37m67 -
5 [Bff A— [BEUa1=7 29m75 - 5 % &—m|AKX—vYyvTvs | 3ms8 | -08 | 1 5 |F#5 $2Z|KMCELs 57 | 35m59 -
6 [ER M |A&v57 26m48 - 6 [/ B8 [VETA 3m44 [ -07 [ 1 6 |®a # BEAC 30m72 -
7 |~32 vauy [KMCEESST | 26mb4 - 7 |mE B ima Kids 3m42 +0.2 1 7 |BF %E [KMCEEYST | 30m63 -
8 lwemk At [T L 22m57 - | 8 |#n % [KMCEEE»ST | 3m36 | +07 ] 1 8 |#m =S [Txra72aAK—Y | 29m66 -
- | BE |[BRAC 19m23 - - [l A [BERAC 3mo08 | -07 | 1 - M =FE [#EAC 16m36 -
- [#n A& [BEAC 15m62 - - [ %= BORAC 3m05 | +0.1 [ 2
- |BEE HE [#RAC 3m00 [ -02 | 1
- [we sk [sERAC 2m78 | 0.1 [ 2
JELL K4 R il AE | # [t K4 R it AE | # JERL K4 R ek EE | 8
1[I EE [FREAC 4m42 | -04 1 |B* B2 (EEY5T 41m77 - 1 |®E &2 [JVC 4m72_| +0.7
2 | A BREAC 4mi15_| -07 2 |3 HE |#REAC 40m91 - 2 | B |JANTAR—Y | 4m37 | -04
| 3 |8l 2:F [FHREAC 4m10 -01 3 =1 E— [EEHNBS 36m22 - 3 |® 2 | FHHEAC 4m21 +0.7
4 [#3# 8% |FTREAC 4m09 | -03 4 [#3 FE [BEHNBS 34m41 - 4 (W2 BB |FREAC 4m07_| -0.6
5 [ WS [#RAC 3m92 | -07 5 %A #&+ [makids 33m57 - 5 |[XT f&f |KMCREEY 57 | 4m06 | +05
6 [EZ & BRAC 3m91 [ +02 6 & #S KMCRELS 57 | 31m96 - 6 |[EM R |[BEU1=7 3m98 [ -05
7 A £E | ZR—YIT vy 3m85 -0.2 7 |[F &/FE  |imakids 31m58 - 7 _|ffE BA ZSC 3m93 -0.3
[ 8 [&R ma |KMCEESST | 3m79 0.0 8 |fBBE P8 |#EAC 29m58 - 8 |&8 I AT L 3m48 | -03
- &S B+ [BRAC 3mo8 [ -0.1 - [INE & HERAC 3m31 -0.3
- |#W MA  [#EAC 3mi7 0.0
OmA—FL 5Ll LA
JEAL R ALk JAE AL F—L% sk EE | #8 1 &S BAO)|
1 [~4bzv 3L [ARAC 1262 | +08 | 2 1| ZAR=Y=Sv7 5394 - 1 2 |BdM s
2 BB —% |[KMCEEFsS7 | 1266 | +08 [ 2 2 |FRAC 54.69 - 2 FEENG)
3 | M [imakids 12.71 -1.0 3 3 [ima kids 55.33 - 1 4 |TH WmE
4 [&m Bt [395SC 1377 | +08 | 2 4 [KMCEEZA 5557 - 2
5 |&iE =% [FREAC 1378 | 03 | 1 5 |WETA 58.27 - 2
6 (1@ #fk |KMCEEESSJ | 1424 | 03 | 1 6 |NTABEE 59.72 - 1
7 |2 kR [FREAC 1426 | +08 | 2 7 _|BRAC 59.75 - 2
8 [iRO #is  [#FhAC 1430 | +08 ] 2 G 59.78 - 1
- |iE & SIEAC 17.68 -03 | 1
| - [m&x mA [#RAC 2042 | -1.0 | 3




M-FZhH7rs— 22[a] /- AFBEEE FTX R smennsnmi i nis

B K& il L A | # JERL it i k= EE JERL it i k= EE |
1[0 < [NFaBE 8.89 +16 | 1 [HEEEES M7 21—y 8.86 -15 [ 2 1w s [ima kids 10.24 -15 | 3
2 |Fk RE [NTABEE 9.33 +16 [ 1 2 |B% 15 |[NTABEE 9.09 +13 [ 1 2 Lo # NTAEE 10.44 +05 [ 1
3 | = NTABEE 9.47 -15 2 3 |M% ARED [MHE=N 9.16 +1.3 1 3 |FME DE [BEAC 10.45 -0.4 2
4 |2 #5535 |LWETA 9.69 -1.5 2 4 |18# {EEIF | FFRAC 9.62 -15 2 4 [¥3F Eim  |#EAC 10.46 -15 3
5 [liA BEEX [#RAC 9.77 =15 2 5 |#EfE BE [BERAC 9.66 +1.3 1 5 |B% XE [HEHYa=7 10.51 -0.6 4
6 (88 B [J4LTAR—Y 9.81 +16 | 1 | [ 6 [%E Mt [TRAC 9.69 -15 [ 2 [ EEREE Bev57 1052 06 | 4
7 |®kE EET[HHEN 9.97 +16 | 1 6 [BX &8 [NTaBL 9.69 -15 [ 2 7 |#% %5 [imakids 10.61 -04 | 2
8 |#M #¥E |#MEAC 10.25 +1.6 1 8 |MAR EE |NTaEEL 9.90 +1.3 1 8 ;_%D% INT A @i 10.63 -0.6 4

- | =S [BEAC 10.92 +0.5 1
BELFI00m  HALL—2 - |5 wmE [WRAC 1128 | 06 4

IBAT K4 R ik A& | # IBAT K4 R L8k BE | # - |BEAR BF |[BRAC 11.34 +0.5 1
1 |&#% #£% [imakids 9.24 +04 | 3 NN TN EEPEEY 13.89 03 [ 7
2 |WE $EE  [ima kids 9.45 +14 [ 1 2 |®E MEF[HPAC 14.00 +19 [ 6 64%XF100m ZALL—R
3 |8l _Fi® [VETA 954 +05 | 6 3 [v57vsmmEm|[KMCREESS T [ 1425 03 [ 7 BT K4 TR B AZ | 8
4 [#K _#0dH|KMCEESST | 961 +14 [ 1 4 & #2xF [VETA 14.40 +04 | 2 1 [mE = ima Kids 1342 +15 [ 6
5 [FEk 16 NTABEE 9.74 +0.4 3 5 [k &EF [ima kids 14.47 -09 1 2 B8 HL3[HET2=T 13.56 -1.7 1
5 |85 s<H[VETA 9.74 +0.1 | 4 6 BBk F#  [ima kids 14.60 -04 [ 3 3 k3 t# |imakids 13.68 +08 | 4
7 |#EE t#E [TRAC 9.75 +1.4 1 7 |fRE& F#E  [imakids 14.69 +1.9 6 4 |@E #F |[0ETaA 14.05 13 8
8 [t mzx MCEEr57 | 979 +04 | 3 8 =R %n [2Af—vy=xsvs [ 1471 +05 [ 5 5 |E@ KM |MFPAC 14.06 -17 ] 1
- |kE Fxx|BEAC 10.32 +01 | 4 8 _lt# & ima kids 14.71 +05 | 5 6 |®gk BAxX |#RAC 14.15 +14 | 2
- |f# XE |BEAC 10.45 -0.8 2 L e BEAC 14.99 -18 4 7 |E BE [FALTRAR=Y 14.22 +1.9 7
- & PE |BEAC 10.48 -1.0 5 - |Bl &k |[BEAC 16.21 -18 4 8 Eﬂ ZE |BAV2=T 14.24 -2.6 3
- |By EBF |BORAC 10.55 08 [ 2 - |R HE [#EAC 15,53 +04 | 2 - |BEAx RA [#EAC 14.32 -1.7 1
- |AE BE $RAC 1061 +0.4 3 - & |BEAC 16.54 +0.4 2 - s ®BF |[BEAC 14.48 -0.1 5
- AR &<E[®EAC 10.68 +05 | 6 | [ - [m@E #@% [#RAC 15.54 -03 | 7 - =% E& [#RAC 14.79 +13 [ 8
- |'NE Bf $EAC 10.87 +1.4 1 - | RBI sk [BORAC 16.73 +0.5 5 - |EX T BEAC 14.84 IR 7

- |[fEB Zx [#RAC 16.25 +19 [ 6 - |dts E [#RAC 15.37 +15 | 6

- | EE |[#EAC 16.58 =08 1 - [Em EE [BEAC 16.05 -26 3

- |pE mE [#EAC 16.75 +05 | 5 - rE #% [#RAC 16.11 +08 | 4
S5&ELF800m AL LL—R 6ELZF800m BALL—R BELF SvRUvIR—LBIT

JEAL K& i iz JEE | # JEAL g i RLEX B | # JERL &4 iR k= RE |

1 |#e & ima kids 2.29.13 - 1 |5t ®# |[KMCELYST7 | 23218 - 1 ¥ Fm [#RAC 26m59 -
2 |FE 4% |KMCRELEYST 2.31.07 - 2 |tEE I |BESA=7 2.33.04 - 2 |FEE HE [BEBNBS 13m92 -
3 |&3 B [BEISIL 2.33.93 - FEEN HES1=7 23323 - 3 k& & [TRAC 13m73 -
4 [A% W [AR—YITvy 2.44.23 - 4 |3 BHm |KMCREEY ST 2.34.59 - 4 |6 £E |BAY1=7 10m97 -
5 [l a0 [BEAC 2.44.45 - 5 @k % [ima kids 2.37.26 -

6 |hE WhE|FHZSAZT 2.45.64 - 6 |hn#E KME  [ima kids 2.40.41 -
7 [ME B ["ERRU-—L 2.48.00 - 7 [t #® [KMCREESST [ 24102 -
8 |BR f&£x |BEHYa=7 2.49.35 - 8 t’M_i?; 2 MC%L’]%j 2.41.29 —
- |k #K |MEAC 251.37 =
- [#%® #% |BURAC DNS =
4557 B SHKF D<)y s R—LRIT

JEAL K4 R L AE | # IEAT K4 R ik BE | # [5Hivd it R ik EE | 8
1 |l #&eE [ima kids 2m98 -0.1 1 [&8 #E  [imakids 3m79 0.0 1 |£B £MB [imakids 34m30 -

2 o #T NTABEE 2m96 | -04 2 |Gk T NTAEE 3m52 0.0 2 [INBE #E[KMCELSST [ 30m86 -
| 3 [M&E kX |[KMCELIST 2m86 -0.1 3 |#Ak  Fizx  [ima kids 3m41 -0.1 3 [Hl H4£ [#EAC 30m80 =
4 [ fe NTABEE 2m80 [ -05 4 [t BEx [KMCEESST | 3mis | -02 4 [©E ov 30m52 -
5 [FM 0¥ [#EAC 2m60 +0.4 5 [/MR 3y |TRAC 3m13 +0.3 5 [XkB& L |FHAC 26m97 -
6 [AE =5 |[NToEE 2m55 | -02 6 [#A €LH[KMCEESST [ 2m98 [ +02 6 |75 =<>F| 74 LTAR—Y | 256m73 -
T |ERE RE [(NTaBEE 2m55 -0.1 7 |FEE £E [#EAC 2m95 +0.2 7 |#&kE HE [FHAC 16m89 -
|8 [msk }8 [BRAC 2m51 0.0 8 Itk #8 [KMCREL, ST | 2m92 [ +01 8 |2 Ex [KMCRELsS7 [ 16mi3 -
- (B2 8F [#EAC = NM - ['vE BF [BRAC 2m87 -0.6
5&%F 80mn—FRL 84 LL—R 6FZT CyRUvIR—LBRIT

JEAL K4 s il AE | # IEAT K4 R ik AE | # [5Hiv3 it R ek EE | 8

1 |hE FHE  [ima kids 4m22 -06 1 1 [B% ZEF  |imakids 13.93 -20 1 1 |RW BA#E  |AFRAC 39m22 -
2 [£E %# [imakids 3m98 | -03 [ 2 2 s F#  [ima kids 1426 | -29 | 2 2 [WBE 3H [ima Kids 34m70 -
3 |ER %1 |AR—YITysH 3m93 -0.1 2 3 i &B KMCELY ST 14.46 -0.7 3 3 [##F ®ZE |KMCRELIST 34m41 -
4 % cva[2R—yzSvs | 3m67 | +03 [ 2 4 5% ZE [makids 1448 | -07 ] 3 4 |3 ®&E [KMCEES ST | 31m9s -
5 |#8f FMETF [FPAC 3m60 -0.1 1 5 [v577vsmEm |KMCRELEY ST 14.86 -0.7 3 5 [IiA mFF  [#EAC 29m86 =
6 [#& HE S95SC 3m51 | +0.1 [ 2 6 [mpk #x [HRAC 1533 | -07 | 3 6 [+tH =& [KMCELsS57 [ 27m66 -
7[RI s#E [BORAC 3m48 -0.1 1 7 |MF ME [FRHEAC 15.40 -29 2 7 _|WEEH ST |BESA=T 22m42 -
8 |0 e |imakids 3m46 | -02 [ 2 8 |+2 Zx [#RAC 1667 | -20 [ 1 8 [#\E #F® [KMCRELsS>7 [ 16m02 -
- |[KE t#E [#EAC 3m43 | +03 [ 2 - [KE tiE [#EAC 18.11 29 | 2

- |mEE #x [#EAC DNS - 1 - |#l H% [#EAC 18.26 -07 [ 1
- |2 EE |BURAC 19.56 -20 1
%F 4X100mR 5 AL—2

IEAT K4 R L5 B | 8 | [JEhL] K4 R it B | #8 [5Hiv3 F—Lb% ek EE | 8
1B #K [AR—YITvs 4m33 -0.4 | 1 [BE§ KM |FFRAC 1342 +1.2 1 [N EEEEEY 54.46 - 2
2 |# A% ima kids 4m24 | -0.2 2 [Mva &E  [FREAC 1367 | +16 | 3 2 [AFsRAC 54.52 - 1

| 3 [ b [AEY5T 4m22 0.0 3 [t @ |KMCREELEIST 13.78 +1.2 1 3 [#EAC 54.82 = 1
4 |H#E ® KMCRELEY ST 4m12 +0.1 4 [IBMA Bk |ima kids 13.86 +0.2 2 4 |ima kids B 55.25 - 2
5 [Hf =fE [FHAC 3m99 +0.3 5 |Mi# b |B&Y757 13.95 +1.2 1 5 [ima kids A 55.83 - 1
6 B #bk |ma kids 3m96_| +04 [ 6|8 T2  [22s551 1458 | +16 | 3 6 |[KMCELZ5JA 56.85 - 2
7 _|VBE I [ima kids 3m83 -0.2 7 |BH X&H |3v3SC 14.66 +0.2 2 7 [AR=Y=Tvy 57.23 - 1
8 I 3 limakids 3m76 | +02 8 M sx  [fdhs—i 14.71 +02 | 2 8 |[WETA 57.30 E 1
- [#m #% [BEAC 3m20 0.0 - WA e [#RAC 15.60 +16 | 3 JL—AN—

- [Bx RA [BEAC DNS +1.6 1 1 |#8 BE
2 |wEE B3
3 |=/& &
4 |BEx RA




